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And according to — 9397° 299N IN2 AN KT PR 9397 K2R
w''% who maintains that if 2>»%»n came they should be offered

OVERVIEW

X1'27 explained the reason why °2°937 > considers a 2"112 7122 to be 0°%va 1N is
because he follows the opinion of ¥'"3, who maintains that a 2"y12 9152 is brought
for a 129p, only if he was brought to >"X; otherwise the 2"¥12 7122 is not required to
be brought as a 127p7. Our nMvoIN will cite the dissenting opinion (against w"9) and
explain why 1" cannot follow this dissenting opinion.

= 12979 ND 9IN) (3,55 97 NN DIYTP VN P92 DYDY M09 NIPY 229
And ¥'"9 argues with ©" in 2°27p Y98 P92 in 7770 noon and Y'Y maintains that

if 01122 o n came from 9™ they should not be offered on the nam for a 127p. The
reason for this is -
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Because ¥"1 derives from a w»>;77 that a place from which you do not bring =“wy»
S to 02917 you also do not bring a 2122 for a 129p.

Based on the above n1901n asks an obvious question:
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And if you will say; then why did X1°27 say that *937 >" is following the
opinion of @' -
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How much more so is s"7°237 > ruling valid according to ¥'"'2 who maintains
that even if the M52 are brought to *"X from 9" they should not be offered;

they are obviously considered his money (since 127> X?). Why did X121 say that "9
"1 follows (only) w'"?!

N1B0IN answers:
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And one can say that X1°27 establishes 1"7°7 according to w''9 (who maintains
that if the mM1M>2 were brought to *"X they are 17p1) since the case of 71221 was

"' The pos states: (33 ,7° [AX1] 0™27) TIRYY TIP2 NN TIEN TWITM T WYA 0K 70100 nvaxy The piod places
T2 MM102 adjacent to "3 7337 Wwyn (which is 1w wyn for the p10d states TITXM TN JINT WYND). I WIA 1S
brought only from *"X as the P09 states 22,7 [X1] ©°127) Y77 NXIAN 93 DX WYN WY,

% The fewer obligations there are to bring the 2>w7p for a 127p, the more it is considered o*2¥2 1nn.

? See previous (71222 1"77) 7°2°0°RY 7""7 MDOIN.

1

TosfosInEnglish.com



X2°981 1"7 ' 2,2° P2 .7"02

taught to be similar to the case of 2°»%2 which are 279 on the nam; therefore it was
necessary to establish a case by 732 where it can be 1217 9¥ 2791 and it is still considered 7
0°%y2. This is a 2"m2 7102

nooIn offers an alternate solution:
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And in addition one can say; that perforce you cannot associate 3"7°1 with »''9 -
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Since 1"7°7 requires a oD to include [>" 2 M102] 2"pp to be considered {n

vy, According to ¥"1 since it is not brought as a J27p, it is certainly 0°%v2 1n; and no Pod
would be required to teach this.

SUMMARY

¥"1 maintains that a "2 722 is not offered as a J27p even if it is brought to >"X.
However 3" cannot agree with ¥"3 either because 22 is 2°M7W7 X7 or
according to ¥"1 no P09 would be required to teach us that it is 2°%¥2 1an.

THINKING IT OVER
1. What are the relative advantages (and drawbacks) of each of the two 2°¥17°n in
mooin?

2. mooin in the second answer explains that 3"'7>7 cannot follow the view of ¥"9, for
why would it be necessary for a p105 to teach us that it is 2°%¥2 1n. Seemingly we
can challenge this answer, for the P05 may be coming to teach us by a 2°n?w that it
is 0"y !’

4 3" utilizes the P09 of '712 Yy 72y to teach us that 2"pp are included in the 17 of M1 DwX.
> See n"ma. P"T @*HYaT PO (XUWIPA) MIMIW R
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